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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an --- - toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --—-------- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ----- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless
4-  The singer's mellifluous voice kept the audience --—--------- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday -----eeeeeuv
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be -----eeeeeev to
customers.
I) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ----------- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8-  The old sailor's skin had become wrinkled and --
sun and the wind.

--- from years of being out in the

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the ----------—- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is 100 --=memuuem- an explanation for this strange phenomenon—I am sure there's

something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeeeeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~==-seeeeeee
cach of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by

Mozart, verbal relaxation instructions, and (13) =--===-=-—--, They found a temporary
enhancement of spatial-reasoning, (14) ----------— spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) ===========- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) afier they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

On her visit to the University of Chicago earlier this month. Megan Urry gave two
very different talks, both backed with empirical evidence and arriving at clear, well-
supported conclusions. However, while her afternoon talk to the astronomy department
focused on her research of Active Galactic Nuclei, Urry’s earlier talk was on a subject
more universal to academia: why are there so few women in science?

Expressing a sentiment that is common among voung female scientists, Urry,
Professor of Physics & Astronomy and Chair of Physics at Yale University, started out
by admitting that as a student it was hard to imagine that the blatant discrimination of
the 1950s and 60s could possibly affect her career in the 1980s. Harder still was the
dawning realization that many of the obstacles were based more on gender than merit,
though the symptoms of bias were more subtle than they had been in the past. [A] “It
turns out that we scientists are a species that are of great interest to sociologists.
Sociologists understand very well why there are so few women in science,” Urry said.
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[B] Data has repeatedly shown that women’s academic careers progress more slowly
and they are less likely to be hired into academic positions. where they are then less
likely to get tenured. [C] Such trends become obvious when the numbers of PhDs
awarded to women and the number of female faculty members hired are compared:
women are lost between each level.

“Our scientific fields are not fully utilizing the talent that is out there.” Urry pointed
out. “We are basically dipping deeper into the talent pool of men instead of finding the
outstanding women that are out there...if we hire a smaller fraction of women as
professors than there are women with PhDs we have basically thrown away talent.”[D]

What is the best title for the passage?
1) Gender Differences in Academic Context
2) Academic Career Deficiencies in Contemporary Time
3) The Invisible Barriers to Women in Science
4) The Insoluble Problems Confronting Women in Scientific Fields
Which of the following was used by Urry to develop her points in her speech?
1) Providing statistics
2) Discussing research results
3) Maintaining a humorous tone
4) Sharing her personal experience
The word “blatant™ in paragraph 2 is closest in meaning to ---—---=--=--=--,
1) obvious 2) laudatory 3) undeclared 4) predominant
According to the passage, which of the following is true of female scientists?
1) All of them had a tough time at school due to inequality at that time.
2) It was believed that they were so biased that they could not arrive at sound
conclusions.
3) The number of females holding PhDs in science does not accord with those who get
tenured.
4) When they are hired as faculty members, losing them will be likely between each
academic level.
Where would the following sentence best fit into the passage?
Furthermore, the fact that there are fewer women in science is bevond doubt.

D [A] 2) [B] 3)[C] 4) [D]
PASSAGE 2:

Interpreting involves reflecting about the words and acts of the study's participants and
abstracting important understandings from them. It is an inductive process in which
you make generalizations based on the connections and common aspects among the
categories and patterns. You may develop hypotheses that have evolved during the
analysis. Interpretation is about bringing out the meaning, telling the story, providing
an explanation, and developing plausible explanations.

Interpretation depends on the background, perspective, knowledge, and theoretical
orientation of the researcher and the intellectual skills he or she brings to the task.
Unlike quantitative research, there are no statistical tests of significance to facilitate
interpretation of qualitative data. In interpreting qualitative data. you confirm what you
already know is supported by the data, you question what you think you know and
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eliminate misconceptions. and you illuminate new insights and important things that
you did not know but should have known. Although interpretation is personal and
proceeds without set rules, this does not mean that the qualitative researcher can rely
strictly on personal feelings when interpreting the data.

The approach to interpretation is clearly affected by the particular qualitative
approach used in the study. In narrative inquiry, the researcher is describing the larger
meaning of the story. In phenomenology, the researcher is attempting to examine the
"essence” of something using textual and structural descriptions. In grounded theory,
interpretation involves developing propositions. Ethnographers are trying to make
sense of how a culture works. A case study develops generalizations. Each of these
qualitative approaches evolved from differing disciplinary bases that clearly influence
how the data are interpreted.

What is the primary function of the passage?

1) Explaining different approaches to interpreting data
2) Introducing interpreting and discussing its difficulties
3) Differentiating qualitative from quantitative data

4) Hluminating interpretation of qualitative data

The word "them" paragraph 1 refers to —-—eeeeeeeee,
1) words and acts 2) generalizations
3) study's participants 4) understandings

According to paragraph 2, which of the following is true about interpreting qualitative
data?

1) Statistics is usually utilized in it.

2) The researcher's perspective and feelings can play a role in it.

3) It attempts to be as objective as possible.

4) The researcher's ability to follow its strict rules affects the result's quality.
Which of the following approaches involves assessing the basic nature of something?
1) Narrative inquiry 2) Ethonography

3) Grounded theory 4) Phenomenology

Why does the author mention some qualitative research approaches in paragraph 3?
1) To illustrate how data interpretation varies among them

2) To clarify the importance of data interpretation in them

3) To show that all of them deal with meaning despite their difference

4) To introduce the topic of the next paragraph

PASSAGE 3:

Women's experience in the world of paid labor was colored by, and contributed to,
their marginalized status in society more generally. Gendered patterns of exploitation
within the world of paid work included women's systematically lower wages and the
threat of sexual harassment or assault. Women’s growing involvement with
commodified labor met fierce resistance on a variety of levels, although the nature of
this resistance varied substantially by class. In Austria the exercise of a trade was
supposed to be gender-neutral after 1859, but in practice women’s position was made
even more difficult by the introduction of the separate category of qualified trades in
1883. Twenty nine women who struggled to establish some form of independent living
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by entering middle-class professions were confronted with a persistent hostility that
manifested itself in legal and cultural challenges.

Teaching, the first and most widespread intellectual occupation accessible to the
“second sex™ since the beginning of the nineteenth century, can serve as one example.
As long as women had no access to regular university training. they were reduced to
the lower, least respected and worst paid ranks of the teaching profession. As in other
parts of Europe. laws in some East Central European countries forbade female teachers
from continuing to work after they married or introduced other discriminatory
regulations that specifically targeted women.

In addition. advances achieved by female employees and professionals were
repeatedly challenged. There were constant attempts to exclude women from better-
paying jobs, particularly in education and the civil service. Bulgarian teachers, for
instance, after the interruptions caused by World War I, returned to the classroom
only to be dismissed again during economic crises in the 1920s and 1930s. In the
newborn Czechoslovak Republic. the celibar (which mandated that female teachers be
fired after marriage) was abolished in 1918. but gendered discrimination remained
pervasive in the civil service throughout the interwar period. Officials pondered
reintroducing the celibat only years after abolishing it: in 1926 gendered restrictions
were applied to lower-level office staff, and during the economic crisis of 1933, pay
cuts were introduced in both the state and the private sector for married employees
whose spouses also worked. In Hungary as well, an increase in the number of women
working in white-collar jobs provoked an intense debate, with oppositional voices
becoming predominant in the 1930s.

According to the passage, what is the attitude of the author towards women’s

involvement in paid work?

1) Neglectful 2) Impudent 3) Empathetic 4) Serene

What is the function of the second paragraph?

1) To clarify the main point of the preceding paragraph

2) To emphasize the importance of academic education for women

3) To introduce another point of discussion for the succeeding paragraph

4) To prove that in Eastern countries. women suffered from prejudicial
distinctions

According to the third paragraph, which of the following is NOT true?

1) The celibat was not totally abrogated during the 1920s.

2) Those women who worked in education and civil service were more likely to face
strict challenges.

3) Hungry and Czech both exhibited signs of gender inequality in the 20th century.

4) The economic crises of the 1930s in East Central European countries led to
the unemployment of almost all women.

What does the word “pondered” in the third paragraph mean?

1) Analyzed 2) Considered 3) Disregarded 4) Contended

Why does the author mention “*Hungary” in paragraph 3?

1) To refer to a country in which women were offered high-powered jobs

2) To give another example of a country where women experienced discrimination

3) To introduce another point of discussion for the succeeding paragraph

4) To prove that women suffered from inequality only in East European countries
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